ER-IERRREE-RR

SH5E11A0BRE
HRREE SHMARRE

R HX SR
TERFAkT | —RES XE 7aEp
TRTMEEELHT- MG [1BE
X7 GB2KE) |REmR=EHEE (25
(TMKRE) |LIEREEREE (216
ISLANIGRE=103, f)IlFE=11.5, T/T)I5REH=22.2,
SHENIRIE=107, ABAIFE=11.7, MAR)IFE=12.2,
FRIBRESEHELE |BH)IRE=138, ZIB)IE=154, REIFHEE=19.7, F#)7E=8.9,
B/NNGE=145, 8 < )IFE=11.6, &/)IFE=10.9,
AR/t 5RiE=8.1
K
FFRE=(13, 104), HEFIRE=(13, 12.4),
EoHuar ZUENIFRE=(13, 13.8), SRENFRE=(12, 17.6), F)liigE=(13, 8),
23R B/NNIERE=(13, 13)
fREANGEKRFHR |
IZkBEHE
i 5 fE 20m/s
A FHRRE fi: 25m/s
= - > fE 20m/s EEHES
A FERE B 25m/s EEES
AE BEEDRS 1285 E DFES10cm
R E ) 6.0m
= 80 B 21m
x7 FEmEagEE |17
TIERMESEHELE 159
SIRNGEE=8.2, fFE=9.2, F/MTIIGE=17.7, §#)FE=85,
T e AERNFE=9.3, IMARNIFRE=9.7, HEF)IFE=11, =UF)I5RE=12.3,
ALAPRETE REIFE=15.7, F#)IFE=7.1, B/NIFE=116,
T2 IGRE=9.2, #/)5RE=8.7, K/t)II5ii5=6.4
Hok mIIFRIE=(8, 9.2), F/MLIIFE=(16, 17.6),
ame BEIIFRE=(14, 6.6), MARJIFE=(8, 9.7), &FH)IIE=(13, 838),
Bl =)= (13, 9.8), JRENIFKE=(8, 15.6), F#aJllFki=H=(13, 5.7),
B/NNNGRE=(13, 9.3)
FREANGEKPEHR | _
IZkBEE
T2 4 ] 2 fE _E 12m/s
B, FHRE B 15m/s
- N fE 12m/s BEES
== kY Uy
RS FERE B 15m/s BEMES
AR E3 FEDRS 1251 E D ES5em
KR HE2ES 3.0m
=8 FBAL 1.8m
& BEFICFYEENTEINDEE
ME
- o o fEE 100m
= e mE 500m
7] BI/INEE40% TEMTE60%
BEDZESHM0cmUl EHYXRDODLNT I
tth 1 BEOFRS20cmLlLE
&= 2 BESEMN2CUE
3 MMEYDRERR
iR BIESE-4CLLT 2
S MRl RIEXEICUT
&K
e 245 R E DIFES: 20cmd £
[ == KB -2°C~2C
A0 6% 1 fE B R K MR 1R 3R 1RERE [120mm

N EEREEY REREIER) O hEICIAEEEERLTIOET,
2 SEEEAEREEDIE,



